ASSEMBLY INSTRUCTION
SALA KING + QUEEN + DOUBLE BED WITH STORAGE

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts, which
may have come loose inside carton during shipment. Identify and count all parts and compare with the parts list below.

ASSEMBLY INSTRUCTION :

1. Remove hardware from box and sort by size.
2. Please check to see that all hardware and parts are present prior start of assembly.
3. Please follow attached instruction in the same sequence as numbered to assure fast and easy assembly

A WARNING !

1. Don't attempt to repair or modify parts that are broken or defective. Please contact the store

immediately.

2. This product is for home use only and not intended for commercial establishments.

3. Two persons are required for assembly.

4. Approximate assembly time : 1/2 hours.

5. Component parts and fittings contained in the box.
Please sort out all parts before you begin to assemble the item.
This is to make sure you always use the correct part .

No. Component Q'ty|| No. Component Hardware list Q'ty
=1 . Bolts M6x10 | 8
Al Headboard | 1 [[LE! \ Center rail -
g Bolts M8x40 |12
=1
tFi| ©——= |Centerlegs ~. |Bolts  M6x60 | 6
Storage 1
= Slats 1 \@ Screws M4x30 | 18
Side rails 2 5 (4 holes)
g’ Allen key K5 |1
i Slats 2
Legs 2 ||Lo (2 holes) Q Allen key K4 | 1

MPORTANT

1. The use of a non-slip mat under every support leg is strongly recommended if a non-slip floor is not in use.
2. Please adjust the foot on the centre support legs to leave about 5mm between the leg and the floor.
3. Do not drag your bed to move it as dragging could cause irreparable damage.

Step 1

=

Legs

A
1A

S'L—{ﬁ
Brackets

B ==

BACK VIEW

Step 2

—_ T
7~

Page 1/2




ADJUST

-

Step 3

Finish

Page 2/2




	AI Sala Final 31.5.22 Model (1)
	AI Sala Final 31.5.22 Model (1)

